EARAROBEEIERT — 2 N— IBISH —F

20174F9A26H (K) 11ESFH#IMAE

PRl & 7R3 9% 9 Y IR3M

(xwlw | lmEmml - |5 5) wom 8

[A&E£] 1 7% :250,000 @ ~ 23&:58,000 ™  33#&:2500M  43%:18,000H 5 3&:13,000 M

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o= BHBENT :31. 30— . - TERE= (%512)
172l 7l vy k714 3 o d 1(3_1)0 3-3-2-1 | 40.5 5 ;1_031) s A
R:T74—=TZh4 B:LyRITFX AR
# 3 | IWTHE 1:31.1 6-6-4-3 [39.8| — | 2 | 475 |/ISALE (%4R)
] 4|/ Yaw 56.0 (1/2) © | Zr-2bEVa>
R:707% B:T7RIA(Y Y1/ — KA ER
. —— . 45 — BEEE (0
311 |B9>Fv o722 it 3 waw (11.311/.24> 4-4-5-5 | 39.9 4 (4_410) b A
L:Fhv=x7x4 B:EYRIOT> =i RS
SR i 3 | ZBEZ 1:31.9 5-5-6-6 | 40.0 | — 6 487 | BAREE (EH)
4/8|8| TE—3TN— 54.0 @ 172) +4) ) Tr-x hEVa>
RTITRRAFS N B:vI—TI—2 FRBE%S
2 N # 3 | BABIE 1:32.1 2-2-1-2 | 41.8| — 1 482 | DNEE=RAR (56HA)
555 A 7LANAF 56.0 (3/4) o) | STF ()
R:F4—=TTVZ7 BT7RIRIXNAA f¢e]
$,575 o = it 3 | ABRER 1:32.6 8-8-8-8 |40.1| — 7 381 | LUFIER (55H2)
6 3| ¥IIvTIT 54.0 @ 1/2) ta) | B) £=257
RZAR—3I2TR—L B:TINAUTFr—L B Bz
" KA =] :33. —7-7- . - BEHIER (5H43)
7 NEPZI=E 4 3 Py 1(32330 7-7-7-7 | 40.7 8 ;1515) mEEE A
L:O—IX12x4 B:olN—q4>Ty b USCIE- %3
. g? . —{-2- -
3 o | /KU T T~ 4 3 sﬂf‘grﬁ 1.(333).7 1-1-3-4 | 43.2 8 431 EE%_@VM
R KU—LTv—=— BiH—AU% O | Fnrnzr—s
® I —F—@EBIERL
13=zr= 2,5,7,1,8,4,6,3
20—7— 2,5,7,1,8,4,6,3
BEE 5,7,2,4,1,8,6,3
40 —F— 7,5,4,2,1,8,6,3
[ RN
BB 7 1,400 714K 4-7 390M B = 4-7 1,150 &R 1-4-7 1,860M
7 B 7 170 1-7 810 | | & & 7-4 4,490 | | 3EE 7-4-1 16,780
4 1204 1-4 330
1 220M

ABICOVWTRDTEEERROODE. TR LIV,




